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Rabboh said, Rabi Yosi maintains, etc. - 9912 9071° 921 12%P 1720 AN

Overview

727 explained that even in a case where 77¥21w 7R, nevertheless *01° ' maintains
that she is permitted to marry immediately (because she is 712 nwnwn). NMdOIN
clarifies that it is possible that according to 7127 no explanation is needed to justify
the ruling of *01 .

= 153W1 1IN Y299 NION

727 is answering for 01 ', according to the view of 33171 '3 that 7777 ' maintains that

a m™Maw is X»»p NP2 and is 79102 npna and therefore she receives 01p -
= 25790 ROYP KD 99W) RVIN RN XYW NTINY 5297 NNYL WIDNT NITTHT

For according to 717 himself, who explains the reason why %''% maintains that a 712w
receives 01p, is so that a sinner should not profit, there is no question at all —

maoIN cautions:
J[PRADT ROR MNP KD 5729 17190
[However, 17129 merely only said, ‘perhaps’.]

Summary
Seemingly the contradiction between the rulings of 7717 " is only according to "

711, but not according to 727.

Thinking it over
Why was this bracketed insert not mentioned previously (on 921 13"7 '01n 2,17) where
190N also stated, 70 XWp XY 191 7277 HaR'?

! 7797 "1 maintains in our 71w» (on 2,77) that one is 032 21 if he is 7NOY/OIRA a 72w, According to (aw) Jam 1 the
reason is because she remains ®»»p 7nw17P2 ,77102 npa. This led us to the contradiction from the Xn>>12 of N7
491 2w where 7777 " maintains she has to wait three months. The X3 had to answer 77v21w 7w w. We then had
the question *01° "7 v"» 7", and 7127 gave his answer.

2 According to 7127 perhaps a 72w is not a 79102 (and she receives 01p only because 2wl X0 KT X5W) so therefore
there is no contradiction from the Xn*92 of 712w N7 where 777 ' maintains they have to wait (since she is npin2
721w3), so we are not discussing a case of 77v21w M, therefore there is no question of >0 "7 v"» 7", for he can
maintains that she is not 75v21w npna.

3 33 " stated clearly that 773 "1 agrees with X017 "1 who maintains that a 72w can (even) eat 7m7n; that is how
certain he was that she is 77921 X2w npa. To this 727 responded, we cannot be sure that 7717° "1 (who grants her 01p)
agrees with 7", perhaps the reason he grants her 01p is 72w1 RN X7 R7w. However, 721 himself was not sure; it is
possible that 777 "3 did agree with 7" and the contradiction from the Xn>*72 would be valid and we would need to
resolve the view of *01° ', even according to 7127. See ‘Thinking it over’.
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